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W:
M: Sure. Come with me.

Well, I'm afraid that we have to change the
exhibition room for your paintings.

: May I ask why?

Sure. We have some electrical problems there.

: I see. Then where are you going to exhibit

my works?

Our gallery is going to exhibit your paintings
in the main hall.

Okay. Can I see the hall now?

preparation 4]
exhibition A
electrical 27]¢]
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38 st

M:

Hello, Villeford High School students. This is
principal Aaron Clark. As a big fan of the
Villeford ice hockey team, I'm very excited
about the upcoming National High School Ice
Hockey League. As you all know, the first
game will be held in the Central Rink at 6
p.m. this Saturday. I want as many of you as
possible to come and cheer
victory. I've seen them put in an incredible

our team to

amount of effort to win the league. It will help
them play better just to see you there
cheering for them. I really hope to see you at
the rink. Thank you.

M:

W:

W:
M:
W:

> You can take a picture sitting there.

Hi, Grace. What are you looking at on your
phone?

Hi, James. It's a photo I took when I did
some volunteer work. We painted pictures on
a street wall.

Let me see. Wow, I like the whale with the
flower pattern.

oI like it, too. How do you like the house

under the whale?

It's beautiful. What are these two chairs for?
The
painting becomes the background.

Oh, I see. Look at this
heart-shaped leaves.

That’s right. We named it the Love Tree.

The butterfly on the tree branch is lovely, too.
I hope a lot of people enjoy the painting.

tree! It has
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W:
M: I'm afraid I've caught a cold. I've got a sore
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W:

M:

Honey, are you okay?

throat.

: Why don’t you go see a doctor?

Well, I don’t think it’s necessary. I've found
some medicine in the cabinet. I'll take it.

* You shouldn’t take that medicine. That's what

[ got prescribed last week.
My symptoms are similar to yours.

: Honey, you shouldn’t take medicine prescribed

for others.

It’s just a cold. I'll get better if I take your
medicine.

It could be dangerous to take someone else’s
prescription.

Okay. Then I'll go see a doctor this afternoon.

M:
W:

=55 =ZE
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W:

: Yeah.

Hi, Stella. How are you doing these days?

Hi, Ryan. I've been busy helping my granddad
with his concert. He made a rock band with
his friends.

There must be a lot of things to do.

I reserved a place for the concert
yesterday.

What about posters and tickets?

: Well, I've just finished designing a poster.

Then I think I can help you.

. Really? How?

Actually, I have a music blog. I think I can
upload the poster there.

: That’s great!

Just send the poster to me, and I'll post it
online.
Thanks a lot.
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W:

M:

Hi, Mr. Thomson. How are your preparations
going?

You
something to tell you.

arrived at the right time. I have

© Okay. What is it?

10
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Good morning. How may I help you?

© Hi. I want to buy a coffee pot.

Okay. You can choose from these coffee pots.

. I like this one. How much is it?

It was originally $60, but it’s now on sale for
$50.

© Okay, I'll buy it. I'd also like to buy this red

tumbler.
Actually, it comes in two sizes. This smaller
one is $20 and a bigger one is $30.

. The smaller one would be easier to carry




